
20 40 60 80 100

0
20

40
60

80
10

0

Variable 1: Slope = 1.05
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neg at 76
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Variable 2: Slope = 1.02

RMA

OLS pos at 77
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Variable 7: Slope = 1.13

pos at 11
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Variable 16: Slope = 1.05

pos at 64
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pos at 48
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Variable 18: Slope = 1.09

pos at 18
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Variable 20: Slope = 1.07

pos at 53
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pos at 42
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Variable 3: Slope = 1.03
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Variable 4: Slope = 1.02
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Variable 8: Slope = 1.01

iso at NA
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Variable 11: Slope = 1.04

pos at 95
OLS

RMA
pos at 75
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Variable 17: Slope = 0.996
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1 iso at 30
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Variable 19: Slope = 1.03

pos at 95

OLS

RMA

pos at 80
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Variable 5: Slope = 0.945

neg at 76neg at 61
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Variable 12: Slope 0.969
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Variable 13: Slope = 0.916

neg at 54
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neg at 43
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Variable 14: Slope = 0.991

iso at 65

neg at 65
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Variable 15: Slope = 0.748

neg at 15
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neg at 18
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Variable 22: Slope = 0.959
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pos at 98
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Variable 9: Slope = 0.737

neg at 7

neg at 6
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Variable 10: Slope = 0.666

neg at 7
neg at 6
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Variable 23: Slope = 0.651

neg at 8
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neg at 7


